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Precalculus

1-6: Function Operations

Perform the indicated operation. Find the domain.

D fle)=4r-1

gt)=r+2

Find (f — g)(t)

3) fla)=4a+1
g{a)=2a—2

Find (1 - g)(a)

5) fl)=4r-2
gt) =7 + 4 +¢
Find (f + g)(¢)

7 gl)=3c-5
Fle)=F +2t
Find (g — £)(¢)

9) g(x) = 2x- +2
f (x) =4x+4
Find (g - /)(x)

Name

Date

" Period

4y f(x)=3x-3

glx)=3x+4
Find (f + g)(x)

8) g(x) =—3x
h(x) =2x> +2x
Find ( g+ h)(x)

10) glx) =3x% - 4x
et Ax)=x 42
Find (g + 2)(x)



13) glx)=2x-3
f(x) =4x+2
Find (g - f)(10)

15) h(x)=4x -2
g(x) =x—1
Find (7 - g)(7)

17) glx)=x-2
f(x)=x2——3x

Find (g - /)(x~4)

12) flx)=2x+3
g(x) =4x+5
Find (f - g)(-10)

14) gln) = 4n
fln)=2n% —n
Find (g + /)(1)

16) flr)=—4r-2
glr)=37% + 5t

Find (£ + g)(—i—)

18) glr)=4r+2
h(t) = —31* — 3t
Find (g + 1)(—41)

20) h(n) =n+2
g(n) =n® +2nm
Find (h + g)(2n)
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Advanced Precalculus

1-6: Building Functions from Functions WS1

Perform the indicated operation.

1) gln)=2n

Wn)=-2n+3
Find (g - 7)(n)

3) fn)=3n+2

g(n)=n3+3

Find (f + g)(n)

5) glx)=x*-5
W(x)=2x-3
Find g(x) -

7 gx)=3x+2
f(x) =x%-5x
Find (g f)(x)

9) g(x) =x>+1
h(x) =2x

Find g(A(x))

h(x)

2) flx )_=x ;
Find (£ - £)(s
4) f(n)=3n-1
n)—2n
Find f(n) - g(n)
6) f(x)=-3%> +2
glx)=2x ~
Find f(x) - g(x)

8) f (x) =2x+4
Find (f © f)(x)

10) fla)=2a-5
g(a) =2a" - 3a

Find (/ * g)(a)



I/\\ 11) gln)=n*+4n 12) gla)=4a+1
h(n)=2n—2 h(a)=2a+5
Find (g #)(n) Find g(h(a))

Find f and g so that h(x) = (f ° g)(x). Neither function may be the identity function f (x) =X

13) Hx) = (2Vx +2)° 14) h(x)= N
15) h(x) = (5x+3)* 16) h(x)= N

Perform the indicated operation.

17) glx)=4x-2 18) glx)=3x
h(x) =—4x-1 f(x) =-3x*—5x
Find g(-4) - h(-4) Find ( ﬁ)(_ i)
f

19) hlx)=3x-3 20) flx)=x*-3
olx)=4x-2 glx)=2x-5
Find (g(2 + x)) Find (f + g)(x*)
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1-6 Function Operations and Composition

Perform the indicated operation.

1) g(n)=n+4
h(n):n—S

Find g(n) + h(n)

3) gl)=—21-2
W) =7 -3t

Find (%)(z)

5) g(v) =x* +5x
Flx)=2x-3
Find (g f)(x)

7) glt)=7F+5¢
Fl)=3r+2
Find g(-2) + £(-2)

9) g(x) =x* - 6x
flx)=-x
Find (g + £)(~4)
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2) hx)=4x—1
g(x)=x+4

Find A(x) - gx)

4) flx)=dx+2
x):x2~5

Find (i)(x)

g

6) glx)=-3x*—5x
Vi (x) =4x—4
Find g(-3) - £(-3)

8) glx)=-3x
f(x) =3x+4
Find g(6) + £(6)

10) glx)=x+1
h(x) =x’-2
Find g(-2) + #(-2)
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1) glt) =32 +5
Fl)=2t-1
Find (g + £)(1)

13) glt)=2t+5
W) =37 + 3¢
Find g(t) + A(z)

15) glx)=x* +6x
h(x) =x+4
Find (g + h)(x)

17) glx)=2x-5
h(t) =—x" +4x
Find g(h(-2))

19) Alx)=x-2
g(x):x+4

Find h(g(-10))
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12) flx)=3x-2
g(x):x+2

Find f(g(x))

14) h(x)=x* + 4
Find A(h(x))

16) glx)=4x+4
h(x) =-3x> 4+ 5x
Find ( g+ h)(——2)

18) A(n)=n*+3
Find h(h(3))

20) gln)=n> -4
M@zn—l
Find (go /)(-6)
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